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	For the square & sq not attempt to add 

Attempt to subtract. 
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	Det. Expression 

Attempt to solve 

For both correct
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	For squaring both sides 

Collecting like terms
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	5.
	Det = 0-3 = -3 ignore – sign 

Area of ( ABC x Det = Area of A(B(C( 

Area of ( ABC X 3 = 36cm2 

Area of ( ABC = 36cm2 = 12cm2
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	6.
	Sin 600 = h    
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 h = 7 Sin 600 
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Area of parallelogram = 7 x 12 Sin 600
Sector ABC =  
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	At the expression level 
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	8.
	Let original number be 
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	9.
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A school’s environmental club consists of 7 boys and 5girls. 
a) P(BBB) = 7 x 6 x 5 
                    12   11 10

= 7/44 

b) P(BBG) or P(BGB) or P(GBB) 
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	10.
	Two straight lines x +2y = -1 and 2x+3y = 3 intersecr at a point R. Find the equation of the circle, centre R, radius 5 units, giving your answer in the form 
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	In 1min the three taps fills   
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H and C fills  
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	16.
	T3 = ar2 = 20 i)     a = 20/r2 
T6 ar5 = -160 ii) and  ….in ii)  
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	17.
	166.25% = sh.9036
100% = ?

100 x 9036 = sh. 5435p.m 

   166.25 

= 5435 x 12 = 65220p.a 

= £ 3261 

b) Tax due = 3261+633.6 = 3894.6 

5808 x 110% = 580.8 

5472 x 15% = 820.8 
5472 x 20% = 1094.4 

5472 x 25% = 1368 

30.6x 30% = 9.18 

£ 22254.6         3873.18.

Taxable income = £ 22254.6 p.a 

= shs. 22254.6 x 20 = sh. 37091 

                   12 

Salary = 37091 – 1271 = shs. 24370 

c) Net income = 37091 + 50 x 24370 

                                        100 

               = 49276 

Net pay = 49276 – 9036 = 40240 
Net pay before = 37091 – 5435

= 31656

% increase = 8584 x 100 = 23.14% 
                      37091
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	19.
	a) y (2x 
x+y ( 30 

y( 10 

4x+y ( 50 

b) 80x + 20y ( 1000 

for y ( 2x drawn 

for x+y ( 30 drawn 

c) for search line drawn 

max (8,14) 

B1- 28,400           8x1800 + 14 x 1000 
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	X 
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-0.2.59
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0.0
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b) i) Sin (x-15) = 0.5
x = 420 ( 3. 

x = 1650 ( 3     B1 for both values of x

ii) 2cos x-0.5 = 1

2cosx = 1.5 

x=420( 3

x = 1210( 3
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	22.
	
a) 82 = 102 + 122 – 2 x 120 cos(
Cos (  =   180 = 0.75 

                240

( = cos-10.75 = 41.40

b) cross sectional area 

s = 8+10 + 12 = 15 

            2
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But TO from 

Sin 41.4 = TO 

                  10 

TO = 10 x sin 41.40 = 6.61m 

Tan ( = (6.61)

                24 

(= Tan -1 ( (6.61) = 15.990
                    24        = 160
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	23.
	a) ( QRS = 400 angles in alternate segment 

b) ( RTQ = ½ (1800 – 400) = 700 angle at the centre is twice that substended at the circumference.
c) (RPQ1800 – (70+70) = 400 angle sum of a triangle 

d) Reflex ( QOR = 3600 – 1400 = 2200 angles at a point 

e) ( TRO = (1800 – 700) = 550
                                      2

Base angles of isosles triangle 
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	For angle reason 

Angle reason 

Angle reason 

Angle reason 
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	24
	Height (cm) 

149.5

154.5

159.5

164.5

169.5

174.5

179.5

Cumulative frequency 

0

10

36

60

80

94

100

b) on the graph paper S1P1C1 
c) 65 x 100 = 65% 

   100

d) Q3 = 168 Q1 = 157.5 

Quantile deviation = Q3 – Q1
                                       2

= 168 – 157.5 

           2 

= 5.25
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